ﬂh Subtraction With Tape Diagram Name:
Solve each problem using a tape diagram. Answers

1) A store has 86 shirts. If 40 are long sleeve, how many are short sleeve?

2.
3.
2) Roger has $38. He decides to spend $16 on new video game. How much money would he
have left?
4.
5.
3) Janet had 45 pencils. If she used 20 of them, how many would she have |eft? 6.
7.

4) A farmer had 84 tomatoesin his garden. If he picked 43 of them, how many would he have
left in the garden?

5) Tiffany listened to 63 songs on her mp3 player. 35 of them were pop and the rest were
classical. How many classical songs did she listen to?

6) Billy owned 60 video games for his Playstation and Xbox. 34 of the games were for Xbox.
How many games does Billy have for playstation?

7) Faye had 69 pieces of paper in her folder. She used 45 pieces. How many pieces does she
have now?
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Subtraction With Tape Diagram Name:

Answer Key

Solve each problem using a tape diagram.

1)

2)

3)

4)

5)

6)

7)
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A store has 86 shirts. If 40 are long sleeve, how many are short sleeve?

86
AN

40 | ?

Roger has $38. He decides to spend $16 on new video game. How much money would he
have left?

38
N\

16 | ?

Janet had 45 pencils. If she used 20 of them, how many would she have |eft?

45
VAN

20 | ?

A farmer had 84 tomatoes in his garden. If he picked 43 of them, how many would he have
left in the garden?

84
N

43 | ?

Tiffany listened to 63 songs on her mp3 player. 35 of them were pop and the rest were
classical. How many classical songs did she listen to?

63
A\

35 | ?

Billy owned 60 video games for his Playstation and Xbox. 34 of the games were for Xbox.
How many games does Billy have for playstation?

60
VAN

34 | ?

Faye had 69 pieces of paper in her folder. She used 45 pieces. How many pieces does she
have now?

69
A\

45 | ?

Answers

46

22

25

41

28

26

24
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